(THHET#] 4

MERRE, PERALUT 24— L TE T,
KITDAR R T HH B FHEAZLTZE,
MAIEMR B ZRL AL TS,

4 ERT

mEH | FERFR BITEHERS 5/2 5/6 5/9(5/10|5/11|5/12(5/13 5/16|5/17|5/18(5/19]|5/20 5/22(5/23|5/24|5/25|5/26|5/27 5/30(5/31| F19 |
t4iERT&ES [PA—1000 [HEASTmM 0.04 0.05 0.04 [0.04 |0.04 |0.04 |0.04 0.04 [0.05 |0.04 [0.04 |0.04 0.04 [0.04 |0.04 [0.04 [0.05 0.04 [0.04 | 0.04
R A 50.5m 0.04 0.05 0.04 [0.04 |0.04 |0.04 |0.04 0.04 [0.05 |0.04 [0.04 |0.04 0.04 [0.04 |0.04 [0.04 |0.05 0.04 [0.04 | 0.04
TREINER |[PA—1000 [HhEADTM 0.04 0.04 0.04 0.04
HhFTH50.5m 0.05 0.04 0.04 0.04
WAERINER |[PA—1000 [#RMNDTm 0.04 0.04 0.05 0.04
HFR A i50.5m 0.04 0.04 0.04 0.04
HRINER |[PA—1000 |#iERMNSTm 0.05 0.05 0.05 0.05
A i50.5m 0.05 0.05 0.05 0.05
T4 ERER |PA—1000 [HIRANASTmM 0.04 0.04 0.05 0.04
HhFTH50.5m 0.05 0.05 0.05 0.05
REFRZER [PA—1000 [HRMASTmM 0.05 0.05 0.05 0.05
R A i50.5m 0.05 0.05 0.05 0.05
MAHYHE |PA—1000 [HFTADTmM 0.05 0.04 0.05 0.05
4T
R A 50.5m 0.05 0.05 0.04 0.05
WrEg#E |PA—1000 [(#1RASTmM 0.05 0.05 0.05 0.05
T H50.5m 0.05 0.06 0.05 0.05
=ILUHHE |PA—1000 (RN STmM 0.05 0.05 0.05 0.05
R A i50.5m 0.05 0.05 0.05 0.05
B EREHHE [PA—1000 [thERASImM 0.06 0.06 0.06 0.06
HhFRM50.5m 0.06 0.06 0.06 0.06
=ILREBFT |PA—1000 [H#iRADTmM 0.03 0.04 0.04 0.04
HhFTH50.5m 0.03 0.03 0.03 0.03
E2t04HE |PA—1000 |HERHADTmM 0.06 0.06 0.06 0.06
HFR A i50.5m 0.06 0.07 0.06 0.06
¥§T§*’% PA—1000 [#hFEMNDTm 0.04 0.05 0.04 0.04
o a—
AV i50.5m 0.05 0.04 0.05 0.05




